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Ch3 Job costing
Exercise 3-17 
	
1.
	a.
	Raw Materials

	315,000
	

	
	
	Accounts Payable

	
	315,000

	
	
	
	
	

	
	b.
	Work in Process

	216,000
	

	
	
	Manufacturing Overhead

	54,000
	

	
	
	Raw Materials

	
	270,000

	
	
	
	
	

	
	c.
	Work in Process

	80,000
	

	
	
	Manufacturing Overhead

	110,000
	

	
	
	Wages and Salaries Payable

	
	190,000

	
	
	
	
	

	
	d.
	Manufacturing Overhead

	63,000
	

	
	
	Accumulated Depreciation

	
	63,000

	
	
	
	
	

	
	e.
	Manufacturing Overhead

	85,000
	

	
	
	Accounts Payable

	
	85,000

	
	
	
	
	

	
	f.
	Work in Process

	300,000
	

	
	
	Manufacturing Overhead

	
	300,000
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40,000 MHs × $7.50 per MH = $300,000.

	
2.
	
	Manufacturing Overhead
	
	Work in Process

	
	
	(b)
	
	54,000
	
	(f)
	
	300,000
	
	(b)
	
	216,000
	
	
	

	
	
	(c)
	
	110,000
	
	
	
	
	
	(c)
	
	80,000
	
	
	

	
	
	(d)
	
	63,000
	
	
	
	
	
	(f)
	
	300,000
	
	
	

	
	
	(e)
	
	85,000
	
	
	
	
	
	
	
	
	
	
	


3.
The cost of the completed job would be $596,000 as shown in the Work in Process T-account above. The entry for item (g) would be:

	Finished Goods

	596,000
	

	Work in Process

	
	596,000


4.
The unit product cost on the job cost sheet would be:




$596,000 ÷ 8,000 units = $74.50 per unit.
Problem 3-21 
1. and 2.

	Cash
	
	Accounts Receivable

	Bal.
	15,000
	
	(c)
	225,000
	
	Bal.
	40,000
	
	(l)
	445,000

	(l)
	445,000
	
	(m)
	150,000
	
	(k)
	450,000
	
	
	

	Bal.
	85,000
	
	
	
	
	Bal.
	45,000
	
	
	


	Raw Materials
	
	Work in Process

	Bal.
	25,000
	
	(b)
	90,000
	
	Bal.
	30,000
	
	(j)
	310,000

	(a)
	80,000
	
	
	
	
	(b)
	85,000
	
	
	

	
	
	
	
	
	
	(c)
	120,000
	
	
	

	
	
	
	
	
	
	(i)
	96,000
	
	
	

	Bal.
	15,000
	
	
	
	
	Bal.
	21,000
	
	
	


	Finished Goods
	
	Prepaid Insurance

	Bal.
	45,000
	
	(k)
	300,000
	
	Bal.
	5,000
	
	(f)
	4,800

	(j)
	310,000
	
	
	
	
	
	
	
	
	

	Bal.
	55,000
	
	
	
	
	Bal.
	200
	
	
	


	Buildings & Equipment
	
	Accumulated Depreciation

	Bal.
	500,000
	
	
	
	
	
	
	
	Bal.
	210,000

	
	
	
	
	
	
	
	
	
	(e)
	30,000

	
	
	
	
	
	
	
	
	
	Bal.
	240,000


	Manufacturing Overhead
	
	Accounts Payable

	(b)
	5,000
	
	(i)*
	96,000
	
	(m)
	150,000
	
	Bal.
	75,000

	(c)
	30,000
	
	
	
	
	
	
	
	(a)
	80,000

	(d)
	12,000
	
	
	
	
	
	
	
	(d)
	12,000

	(e)
	25,000
	
	
	
	
	
	
	
	(g)
	40,000

	(f)
	4,000
	
	
	
	
	
	
	
	(h)
	17,000

	(h)
	17,000
	
	
	
	
	
	
	
	
	

	
	
	
	Bal.
	3,000
	
	
	
	
	Bal.
	74,000
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$100,000


	Retained Earnings
	
	Capital Stock

	
	
	
	Bal. 
	125,000
	
	
	
	
	Bal.
	250,000


Problem 3-21 (continued)

	Salaries Expense
	
	Depreciation Expense

	(c)
	75,000
	
	
	
	
	(e)
	5,000
	
	
	


	Insurance Expense
	
	Shipping Expense

	(f)
	800
	
	
	
	
	(g)
	40,000
	
	
	


	Cost of Goods Sold
	
	Sales

	(k)
	300,000
	
	
	
	
	
	
	
	(k)
	450,000


3.
Manufacturing overhead was overapplied by $3,000 for the year. This balance would be allocated between Work in Process, Finished Goods, and Cost of Goods Sold in proportion to the ending balances in these accounts. The allocation would be:

	Work in Process, 12/31

	$ 21,000
	5.6
	%

	Finished Goods, 12/31

	55,000
	14.6
	

	Cost of Goods Sold, 12/31

	 300,000
	 79.8
	 

	
	$376,000
	100.0
	%


	Manufacturing Overhead

	3,000
	

	Work in Process (5.6% × $3,000)

	
	168

	Finished Goods (14.6% × $3,000)

	
	438

	Cost of Goods Sold (79.8% × $3,000)

	
	2,394



4.

	Fantastic Props, Inc.
Income Statement
For the Year Ended December 31



	Sales


	
	$450,000

	Cost of goods sold ($300,000 – $2,394)

	
	 297,606

	Gross margin


	
	152,394

	Selling and administrative expenses:
	
	

	Salaries expense

	$75,000
	

	Depreciation expense

	5,000
	

	Insurance expense

	800
	

	Shipping expense


	 40,000
	 120,800

	Net operating income

	
	$ 31,594


PAGE  
3

_1067659120.unknown

_1067659119.unknown

